



Article Cancer Risk in Collagenous Colitis

Johanna K. Larsson ¹, Konstantinos J. Dabos ², Peter Höglund ³, Johan Bohr ⁴, Andreas Münch ⁵, Andry Giannakou ⁶, Artur Nemeth ⁷, Gabriele Wurm-Johansson ⁷, Ervin Toth ⁷, John N. Plevris ², Paul Fineron ⁸, Anastasios Koulaouzidis ^{2,†} and Klas Sjöberg ^{1,*,†}

- ¹ Department of Gastroenterology, Skåne University Hospital, 205 02 Malmö, Sweden; johanna.larsson@med.lu.se
- ² Centre for Liver & Digestive Disorders, the Royal Infirmary of Edinburgh, Edinburgh EH16 4SA, Scotland, UK; kostasophia@yahoo.com (K.J.D.); j.plevris@ed.ac.uk (J.N.P.); akoulaouzidis@hotmail.com (A.K.)
- ³ Department of Laboratory Medicine, Division of Clinical Chemistry and Pharmacology, SUS, Lund University, 221 85 Lund, Sweden; peter.hoglund@med.lu.se
- ⁴ Department of Medicine, Division of Gastroenterology, Örebro University Hospital, 702 81 Örebro, Sweden; School of Health and Medical Sciences, Örebro University, 701 85 Örebro, Sweden; johan.bohr@regionorebrolan.se
- ⁵ Division of Gastroenterology and Hepatology, Department of Clinical and Experimental Medicine, Faculty of Health Science, Linköpings University, 581 83 Linköping, Sweden; Andreas.Munch@regionostergotland.se
- ⁶ Open University of Cyprus, Faculty of Economics and Management, 1678 Nicosia, Cyprus; andry.gianna@gmail.com
- ⁷ Department of Medicine, Endoscopy Unit, Skåne University Hospital, 205 02 Malmö, Sweden; artur.nemeth@med.lu.se (A.N.); gabriele-wurm@web.de (G.W.-J.); ervin.toth@med.lu.se (E.T.)
- ⁸ Pathology Department, Western General Hospital, Edinburgh EH4 2XU, Scotland, UK; paul.fineron@nhtlothian.scot.nhs.uk
- * Correspondence: klas.sjoberg@med.lu.se; Tel.: +464-033-6161
- + These authors contributed equally to this work.

Received: 5 September 2019; Accepted: 7 November 2019; Published: 11 November 2019



Abstract: Data on malignancy in patients with collagenous colitis (CC) is scarce. We aimed to determine the incidence of cancers in patients with CC. In a two-stages, observational study, data on cancers in patients diagnosed with CC during 2000–2015, were collected from two cohorts. The risk was calculated according to the age-standardized rate for the first cohort and according to the standardized incidence ratio for the second cohort. The first cohort comprised 738 patients (394 from Scotland and 344 from Sweden; mean age 71 ± 11 and 66 ± 13 years, respectively). The incidence rates for lung cancer (RR 3.9, p = 0.001), bladder cancer (RR 9.2, p = 0.019), and non-melanoma skin cancer (NMSC) (RR 15, p = 0.001) were increased. As the majority of NMSC cases (15/16) came from Sweden, a second Swedish cohort, comprising 1141 patients (863 women, mean age 65 years, range 20–95 years) was collected. There were 93 cancer cases (besides NMSC). The risk for colon cancer was decreased (SIR 0.23, p = 0.007). The risk for cutaneous squamous cell carcinoma was instead markedly increased (SIR 3.27, p = 0.001).

Keywords: colon cancer; cancer risk; collagenous colitis; lung cancer; microscopic colitis; skin cancer; squamous cell carcinoma

1. Introduction

Microscopic colitis (MC) is an inflammatory disorder of the colon that causes chronic, watery and non-bloody diarrhoea, occasionally associated with abdominal pain and weight loss. With a predilection for those ≥ 60 years of age and for females, MC has an incidence rate of approximately 10/100.000 per year [1–3]. Macroscopic findings are rare and the diagnosis is confirmed through histopathology [4–6].

MC comprises two main histologic subtypes; collagenous colitis (CC) and lymphocytic colitis (LC). Histopathological features of CC include a continuous, thickened sub-epithelial fibrous band (>10 μ m) and associated chronic mucosal inflammation. The collagen band contains entrapped capillaries, red blood cells, as well as inflammatory cells. Moreover, damaged epithelial cells appear flattened, mucin-depleted, and irregularly-oriented. Focally, small strips of surface epithelium may lift-off the basement membrane [7]. Patients with CC are considered to have a more symptomatic and long-lasting disease course than those with LC [8].

Chronic inflammation is considered a risk factor for cancer development. Moreover, chronic inflammation may result in cancer development in sites other than the affected organ/system. For instance, the risk of lymphoma in rheumatoid arthritis (RA) is increased by 60% [9]. In patients with inflammatory bowel disease (IBD), there is an increased risk of colorectal cancer (CRC), at least in some subgroups, as well as extra-intestinal cancers such as haematological, bladder, lung as well as skin cancers [10–12]. Patients with coeliac disease have a reported increased risk of non-Hodgkin lymphoma, small-bowel cancer, CRC and basal cell carcinoma (BCC) [13]. *Helicobacter pylori* itself contributes to many neoplasias, but studies have shown that the inflammatory response per se contributes to the carcinogenesis as well [14].

Data on the incidence of metachronous cancer(s) in MC is scarce. Although the inflammation is limited as compared to classical IBD the condition may be active for several years; furthermore, it often affects elderly individuals who have already an increased cancer risk. Additionally, many patients with CC smoke [15]. Chan et al described an increased risk of lung cancer in a small cohort of patients with CC with a mean follow-up time of 7 years. The study included 117 patients, and no cases of CRC were described [16]. A negative association has actually been suggested between CRC and MC (including both CC and lymphocytic colitis) in a cohort comprising 647 patients with MC and a mean follow-up time of five years. Twelve MC patients had CRC compared to 27 in a control group of similar size (p = 0.015) [17]. Therefore, the aim of the present study was to determine the incidence of metachronous cancer in patients with CC.

2. Patients and Methods

The investigation was carried out as a two-stage, observational, international, multicentre, cohort-study, comprising two sizeable cohorts of patients diagnosed with CC. See Figure 1.



Figure 1. Participating centres: Series 1: 1 = Edinburgh, Scotland, 2 = Malmö; Series 2: 3 = Linköping, 4 = Örebro, 5 = Skåne region.

2.1. First Stage—Scotland and Sweden

In an international, retrospective, two-centre observational study; data on extra-colonic cancer in patients with CC were collected for a 14-year period (2000–2013) from Edinburgh, Scotland and Malmö, Sweden. The CC diagnosis was set according to established criteria i.e., symptoms of chronic, non-bloody diarrhoea and histopathological findings of thickened sub-epithelial collagen layer $\geq 10 \mu m$, associated with chronic inflammation in the lamina propria and with an increased number of intraepithelial lymphocytes [18]. Data were obtained from the pathology department, Edinburgh and Malmö with a catchment area of 750,000 and 320,000 inhabitants, respectively. The records of those with CC were manually searched for data on metachronous, extra-colonic cancers.

2.2. Second Stage—Sweden

Due to an unexpectedly skewed distribution of cancer cases in the first stage of the study we decided to re-do the study and focus on Swedish data. Patients with CC in three different regions (Skåne, Linköping and Örebro) were included. In Sweden, all patients that are diagnosed with CC according to the established criteria are registered at the Departments of Pathology and are given a specific code number. All specimens taken during colonoscopy in the three regions are regularly sent to specific Pathology Departments. All patients with a CC diagnosis from 2000 in Skåne and Örebro and from 2008 in Linköping until the end of 2015 were included.

For each patient with CC, the follow-up period began at the time of CC diagnosis and continued until whichever of the following occurred first: death or the end of the observation period (31st December, 2015). Patients were not excluded after their first diagnosis of cancer, since we wanted to examine incidence risk for all cancers developed during follow up. The CC cohort was linked up with the National Cancer Register in each region. Cancers preceding the diagnosis of CC were not included in the cancer data.

2.3. Statistical Analysis

2.3.1. First Stage

Person-years at risk was calculated according to age-specific categories up to 85 years. The standard error (Se) was calculated using the Poisson approximation. Confidence interval (CI) of the age-standardised rate (ASR) was compared to public data, available from UK's National Cancer Intelligence Network. The relative risk (RR) for ASR was calculated and compared to ASR in Lothian region, Scotland. The standardised cancer incidence rates (IR) were also compared to the ones of Lothian under the assumption that populations at the same latitude share the same IR.

2.3.2. Second Stage

Person-years at risk were calculated by gender and 5-year age groups, separately for the 3 geographical areas (Skåne, Linköping, and Örebro). Standardized incidence ratios (SIR) were calculated for each of the reported cancers. Because patients in this cohort came from three different Swedish regions and in light of the known national variations of cancer incidence, the expected numbers of cancers were calculated by pooling the patients and linking each area to existing cancer registries. The expected numbers of cases of cancers and specific cancer types were calculated by multiplying the number of person-years for each gender, age and area group by the corresponding specific cancer incidence rates in the respective areas. SIR and their 95% CI were calculated assuming that the observed number of cases followed a Poisson distribution. Mid-P exact test was applied and values below 0.05 were considered significant. For non-melanoma skin cancer (NMSC), both BCC and cutaneous squamous cell carcinoma (cuSCC) that can occur several times in one individual, the number of tumours was recorded—instead of individual cases—in both the CC cohort and in the control group.

This study was approved by the institutional review board at Lund University (The local Ethics Committee at Lund University, date: 6th November 2013; decision LU 2013/650 and date: 27th October, 2016; decision LU 2016/788) and Lothian NHS. Since it was a retrospective registry study the Ethical Board approved that written informed consent was not necessary to obtain prior to the collection of data. The study protocol conforms to the ethical guidelines of the 1975 Declaration of Helsinki as reflected in a priori approval by the institution's human research committee.

3. Results

3.1. First Stage

The demographics of the first cohort can be seen in Table 1. Of the 738 included, 71 (50 women and 21 men) were affected by some form of extra-colonic, metachronous malignancy following the diagnosis of CC. The remainder of this cohort (n = 667) did not develop any extra-colonic cancer during the follow-up period. The average follow-up duration was 7 years (range 2–15 years), while the average time interval between CC and cancer diagnosis was 3 years (range 0–11 years). Of these 71 cases, 14 developed any cancer during the first year, 25 during the following two years and 32 from the third year.

Table 1. Characteristics of the collagenous colitis (CC)-cohort in Scotland and Sweden (Series 1).

	Edinburgh	Malmö	Total
N	394	344	738
Age, median (IQR)	68 (57–76)	69 (59–77)	68 (58–77)
% women (n)	68% (268)	83% (285)	75% (553)
IQR = interquartile range			

The RR for all cancers, lung, bladder cancer and NMSC, as well as the ASR in patients with CC were higher compared to those of the general population. The RR for lung cancer was 3.88 (CI: 1.62–9.31), for bladder cancer 9.23 (CI: 1.14–75.03) and for NMSC 14.96 (CI: 2.57–87.08). See Table 2.

Table 2. Observed and expected cancers in the Scottish/Swedish cohort (series 1). RR, relative risk.

Cancer Type	Cases	Exp	RR	P-Value
Skin (NMSC)	16	1	15.0	0.001
Bladder	6	1	9.2	0.019
Lung	18	2	3.9	0.001

NMSC = non-melanoma skin cancer.

The cases with bladder and lung cancer were evenly distributed, but in contrast 15/16 cases with NMSC were addressed from the Malmö cohort. Because of this a decision was taken to proceed to a second stage by including more regions in Sweden. Furthermore, in most countries the number of NMSC is difficult to determine because BCC and cuSCC cases are not reported to national cancer registries, or they are reported as one heterogeneous group [19]. However, in Sweden these cancer types are reported separately and consequently it is possible to obtain data on the occurrence of BCC and cuSCC.

3.2. Second Stage

In this stage, a total of 1141 patients with diagnosis of CC were identified. It should be noted that 344 out of those from Skåne were included also in stage one. The characteristics of the patients are shown in Table 3. The average follow-up duration was 8 years (range 2–15 years), while the average time interval between CC and cancer diagnosis was 4 years (range 0–14 years). Of the 93 solid cancers 17 were diagnosed during the first year, 25 during the following two years and 51 thereafter. The expected and observed cancer cases are presented in Tables 4 and 5. The risk of lung cancer was increased in Skåne (SIR 1.85 CI: 1.053–3.029, p = 0.034) but since there were no other cases of lung cancer in the other two Swedish regions, this did not become significant in the whole group. The total number of cancer cases besides NMSC was 98. However, five rare cancer cases were considered not applicable for data calculation and thus excluded, leaving 93 cancer cases (61 women and 32 men). The total number of NMSC was 140. The mean time interval between CC diagnosis and cuSCC was 5.4 years, range 0.6–12.1 years. Of the 46 cases of cuSCC, four developed cuSCC during the first year, eight during the following two years, and 34 after three years or more.

Table 3. Characteristics of the CC-cohort Sweden, three regions (Series 2).

	Linköping	Örebro	Skåne	Total
Ν	130	133	878	1141
Age, median (IQR)	66 (57–75)	64 (53–74)	68 (58–76)	67 (57–76)
% women (n)	75% (98)	84% (112)	74% (653)	76% (863)
IQR = interquartile range				

Table 4. Observed and expected cancers in the Swedish cohort, divided into Skåne, Linköping and Örebro (Series 2).

Cancer site	Skåne			Linkö	ping		Örebr	0	
	obs	exp	SIR	obs	exp	SIR	obs	exp	SIR
Eye	1	0.13	7.64	0	0.023	0.00	0	0.011	0.00
Oesophagus	3	0.65	4.60	0	0.066	0.00	0	0.068	0.00
Cervix	2	0.46	4.33	0	0.07	0.00	0	0.079	0.00
CuSCC	36	11.58	3.11	6	1.44	4.18	4	1.060	3.78
Vulva	1	0.29	3.46	0	0.033	0.00	0	0.049	0.00
CNS	2	1.29	1.55	2	0.19	10.30	0	0.17	0.00
r	3	1.3	2.31	1	0.19	5.14	0	0.20	0.00
Stomach	1	1.27	0.79	1	0.14	7.14	1	0.14	7.27
Bladder/Ureter	8	4.29	1.87	0	0.5	0.00	2	0.38	5.30
Rectal/Anus	1	3.20	0.31	4	0.39	10.19	2	0.44	4.55
Pancreas	3	1.50	2.00	0	0.25	0.00	0	0.21	0.00
Lung	14	7.57	1.85	0	0.89	0.00	0	0.84	0.00
Prostate	8	7.56	1.06	1	1.56	0.64	1	0.56	1.78
Leukemia/Myeloma	3	2.93	1.02	0	0.37	0.00	1	0.40	2.52
Melanoma	3	3.92	0.76	2	0.63	3.18	0	0.55	0.00
BCC	83	82.08	1.01	7	7.62	0.92	4	6.19	0.65
Breast	11	17.61	0.62	3	1.89	1.59	2	1.98	1.01
r	1	2.47	0.40	0	0.30	0.00	1	0.26	3.78
Uterus	2	2.76	0.72	0	0.38	0.00	0	0.52	0.00
Colon	2	7.11	0.28	0	0.84	0.00	0	0.86	0.00

SIR = Standard Incidence Ratio, BCC = Basal cell carcinoma, cuSCC = Cutaneous squamous cell carcinoma.

Cancer site	Observed	Expected	SIR	mid-p	
Eye	1	0.16	6.07	0.164	
Oesophagus	3	0.79	3.82	0.054	
Cervix	2	0.61	3.28	0.15	
cuSCC	46	14.08	3.27	0.001	
Vulva	1	0.37	2.70	0.364	
CNS	4	1.65	2.42	0.113	
Kidney	4	1.69	2.37	0.121	
Stomach	3	1.54	1.94	0.273	
Bladder/Ureter	10	5.16	1.94	0.055	
Rectal/Anus	7	4.03	1.74	0.167	
Pancreas	3	1.96	1.53	0.449	· · · · · · · · · · · · · · · · · · ·
Lung	14	9.30	1.51	0.142	
Prostate	10	9.68	1.03	0.878	
Leukemia/Myeloma	4	3.69	1.08	0.816	
Melanoma	5	5.10	0.98	1.000	
BCC	94	95.89	0.98	0.847	
Breast	16	21.48	0.74	0.233	
Lymphoma	2	3.03	0.66	0.611	
Uterus	2	3.66	0.55	0.411	
Colon	2	8.81	0.23	0.009	0.062 0.125 0.250 0.500 1.00 2.00 4.00 8.00 16.00

Table 5. Observed and expected cancers in the whole Swedish cohort in a forest plot (Series 2).

BCC = Basal cell carcinoma, cuSCC = Cutaneous squamous cell carcinoma.

4. Discussion

This is the largest study published to date on the risk of metachronous malignancies in patients diagnosed with CC. In the first stage, it was noted that the risk for lung and bladder cancer was increased in patients with CC diagnosis. Furthermore, the risk of NMSC was also increased in this cohort. In the second stage of this observational, multicentre study comprising a large Swedish cohort we could confirm the decreased risk of colon cancer in patients with CC, as reported in previous studies [16,17]. However, previous studies either included prevalent cases of CRC (15) or comprised a fairly limited number of CC-patients (14). Analysis of the current large cohort from three counties in Sweden indicated that the risk of getting colon cancer was reduced at least four times (from 8.8 expected cases to two observed). Since we do not have information about previous colonoscopies in this elderly population with gastrointestinal complaints it cannot be excluded that this reduced risk hypothetically could be due to pre-emptive polypectomies preceding the diagnostic endoscopy. However, in patients with longstanding albeit low-grade, inflammatory response in the colon, one would instead expect to observe an increased risk of colon cancer. Nevertheless, not only the inflammation is modest, but it may also be protective. For instance, frequent watery diarrhoea reduces the transit time and likely any potential impact from toxic agents. Yen et al. suggest that elevated intraepithelial lymphocytes in the colonic mucosa in patients with MC may have a protective function against carcinogenesis through recruiting delta-gamma T-cells that kill cells undergoing DNA-damage or cell stress [17].

Data from the second series revealed a more than three-fold increase in cuSCC in patients with CC. Except UV-light exposure and immunosuppressive treatment related to organ transplantation, little is known about risk factors contributing to cuSCC [19–21]. Evidence that glucocorticoids enhance the risk of cuSCC is limited, but has been described previously [22,23]. The incidence of NMSC (both cuSCC and BCC) is increased in patients with IBD, but likely related to the exposure of immunosuppressive treatment (thiopurines and biologics) [24]. However, Singh et al. also described an increased risk of BCC in men with Crohn's disease not treated with immunosuppression [25]. Therefore, not only immunosuppressive treatment is related to an elevated risk of NMSC but also the inflammation per se, probably as a result of dysregulation of the immune system. In CC, Günaltay et al have described a decreased production of IL-37 in such patients, indicating a disturbed immune response [26,27]. Thus,

the elevated risk of cuSCC in CC may be related to a malfunctioning immune system caused by the disease itself, medication or other not yet known procarcinogenic factors.

The incidence rate of lung cancer was increased in the first stage cohort but not in the second. However, the incidence was increased also in the second series in Skåne but not for the whole Swedish cohort. In Skåne 878 out of the 1141 cases with CC were identified and 14 cases with lung cancer was found (7.57 expected). In contrast to this large cohort the expected incidence of lung cancer in the cities Örebro and Linköping (based on 150,000 inhabitants in each location) were one case in each location. Consequently, the observed incidence with no cases in these two minor cities must be interpreted with caution. The incidence rate in Skåne with around 1.3 million inhabitants is of course more reliable. The risk of urinary bladder and/or ureteric cancer was increased in the first cohort and showed a positive trend in the second, something that strengthens this observation. The association between CC and smoking habits is already well described [15]. Smoking is related to cancer in both lung and bladder which is probably the reason why these incidence rates are elevated in our CC cohort [28,29].

The risk of cancer in oesophagus also showed a positive trend in the second series. Risk factors of oesophagus cancer are among others, smoking, alcohol, hot liquids and HPV-infection [30]. As can be seen, some of the risk factors are shared with CC such as smoking and alcohol [31]. Furthermore, oesophageal cancer is often of squamous cell origin just as in the skin. In this study we did not get detailed information if the oesophagus cancer cases were of squamous cell or adenomatous origin. However, in view of the low number of cases with oesophageal or bladder cancer, despite a fairly large number of CC patients, a definitive conclusion cannot be drawn regarding putative relationship between CC and cancer in oesophagus or bladder.

Some strengths and limitations should be noted; this is the largest study to date concerning the risk of metachronous cancer in patients with a previous diagnosis of CC. In the second cohort, 1141 patients could be included. The studied regions are well defined, and patients are referred to specific hospitals within these regions. All common cancers types in the western world were represented in the present study. In other words, no common cancer type was totally absent. The control group in the Swedish cohort consisted of all cancer cases in the same regions as our cohorts, adjusted for year of onset, gender and age group. This procedure is necessary in order to obtain more reliable results. Furthermore, the cancer registry at the National Board of Health and Welfare covers more than 96% of the cancer cases in Sweden [32]. Since we wanted to investigate if CC can be considered as a risk factor for cancer, we included only incident cases of cancer diagnosed after the CC diagnosis. The outcome of cancer was assessed from day one after the CC-diagnosis. This may cause a risk of including prevalent cancers, but since we know that the time lapse between disease onset and diagnosis of CC may be long, we believe that these factors level out. A majority of the cancers was diagnosed after more than three years making detection bias less probable.

This study also has some limitations that merit consideration. First, nationwide registers do not contain information about lifestyle habits like smoking, alcohol consumption, family history, exercise or other possible confounding factors. We neither had detailed data of disease severity nor medication in our study population. Information about sun exposure and consequently also about the location of the skin tumours would have been valuable. Furthermore, the associations found are not necessarily causal; one disease could lead to another or a not yet known factor besides the studied could lead to both CC and cancer. The retrospective design also limits the conclusions that can be drawn, although a study with a prospective design would have been difficult to finalize.

Consequently, this study could confirm the previously described negative association between CC and colon cancer, an observation of unknown cause. Even though significance was not achieved for cancers in lung, bladder and oesophagus there was a trend indicating that there could be a correlation anyway. A new, so far, unknown association between CC and cuSCC has also been revealed. There are reports about an increase incidence of BCC in coeliac disease and of NMSC in IBD. Consequently, we have to be extra cautious when examining patients with gastrointestinal inflammation in order to reveal any incident skin cancers.

Author Contributions: Conceptualization, J.K.L., E.T., J.N.P., A.K. and K.S.; methodology, J.K.L., P.H., A.G., A.K., K.S.; software, P.H.; validation and formal analysis, J.K.L., P.H., A.G., A.K., K.S.; investigation, resources and data curation, J.K.L., K.J.D., J.B., A.M., A.G., A.N., G.W.-J., E.T., J.N.P., P.F., A.K. and K.S.; writing- original draft preparation, J.K.L., A.K. and K.S.; writing- review and editing, J.K.L., K.J.D., P.H.; J.B., A.M., A.N., G.W.-J., E.T., J.N.P., A.K., K.S.; supervision, P.H., A.K., K.S.; project administration, J.K.L., A.K., K.S.; funding acquisition, J.K.L., K.S.

Funding: This research have got financial support by grants from the Southern Health Care Region in Sweden.

Acknowledgments: We acknowledge the help of Anna Åkesson, statistician at Region Skåne, in designing Table 5.

Conflicts of Interest: The authors declare no conflict of interest.

References

- Nguyen, G.C.; Smalley, W.E.; Vege, S.S.; Carrasco-Labra, A.; Clinical Guidelines, C. American Gastroenterological Association Institute Guideline on the Medical Management of Microscopic Colitis. *Gastroenterology* 2016, 150, 242–246. [CrossRef] [PubMed]
- Vigren, L.; Olesen, M.; Benoni, C.; Sjoberg, K. An epidemiological study of collagenous colitis in southern Sweden from 2001–2010. World J. Gastroenterol. WJG 2012, 18, 2821–2826. [CrossRef] [PubMed]
- Wickbom, A.; Bohr, J.; Eriksson, S.; Udumyan, R.; Nyhlin, N.; Tysk, C. Stable incidence of collagenous colitis and lymphocytic colitis in Orebro, Sweden, 1999–2008: A continuous epidemiologic study. *Inflamm. Bowel Dis.* 2013, *19*, 2387–2393. [CrossRef] [PubMed]
- 4. Koulaouzidis, A.; Yung, D.E.; Nemeth, A.; Sjoberg, K.; Giannakou, A.; Qureshi, R.; Bartzis, L.; McNeill, M.; Johansson, G.W.; Lucendo, A.J.; et al. Macroscopic findings in collagenous colitis: A multi-center, retrospective, observational cohort study. *Ann. Gastroenterol.* **2017**, *30*, 309–314. [CrossRef] [PubMed]
- Langner, C.; Aust, D.; Ensari, A.; Villanacci, V.; Becheanu, G.; Miehlke, S.; Geboes, K.; Munch, A. Histology of microscopic colitis-review with a practical approach for pathologists. *Histopathology* 2015, *66*, 613–626. [CrossRef] [PubMed]
- Marlicz, W.; Skonieczna-Zydecka, K.; Yung, D.E.; Loniewski, I.; Koulaouzidis, A. Endoscopic findings and colonic perforation in microscopic colitis: A systematic review. *Dig. Liver Dis.* 2017, 49, 1073–1085. [CrossRef] [PubMed]
- 7. Aust, D.E. Histopathology of microscopic colitis. Der. Pathol. 2012, 33, 221–224. [CrossRef]
- Rasmussen, M.A.; Munck, L.K. Systematic review: Are lymphocytic colitis and collagenous colitis two subtypes of the same disease - microscopic colitis? *Aliment. Pharmacol. Ther.* 2012, *36*, 79–90. [CrossRef] [PubMed]
- Hellgren, K.; Baecklund, E.; Backlin, C.; Sundstrom, C.; Smedby, K.E.; Askling, J. Rheumatoid Arthritis and Risk of Malignant Lymphoma: Is the Risk Still Increased? *Arthritis Rheumatol.* 2017, 69, 700–708. [CrossRef] [PubMed]
- Pedersen, N.; Duricova, D.; Elkjaer, M.; Gamborg, M.; Munkholm, P.; Jess, T. Risk of extra-intestinal cancer in inflammatory bowel disease: Meta-analysis of population-based cohort studies. *Am. J. Gastroenterol.* 2010, 105, 1480–1487. [CrossRef] [PubMed]
- Kappelman, M.D.; Farkas, D.K.; Long, M.D.; Erichsen, R.; Sandler, R.S.; Sorensen, H.T.; Baron, J.A. Risk of cancer in patients with inflammatory bowel diseases: A nationwide population-based cohort study with 30 years of follow-up evaluation. *Clin. Gastroenterol. Hepatol.* 2014, 12, 265–273. [CrossRef] [PubMed]
- Jess, T.; Simonsen, J.; Jorgensen, K.T.; Pedersen, B.V.; Nielsen, N.M.; Frisch, M. Decreasing risk of colorectal cancer in patients with inflammatory bowel disease over 30 years. *Gastroenterology* 2012, 143, 375–381. [CrossRef] [PubMed]
- 13. Ilus, T.; Kaukinen, K.; Virta, L.J.; Pukkala, E.; Collin, P. Incidence of malignancies in diagnosed celiac patients: A population-based estimate. *Am. J. Gastroenterol.* **2014**, *109*, 1471–1477. [CrossRef] [PubMed]
- 14. Wang, F.; Meng, W.; Wang, B.; Qiao, L. Helicobacter pylori-induced gastric inflammation and gastric cancer. *Cancer Lett.* **2014**, 345, 196–202. [CrossRef] [PubMed]
- Vigren, L.; Sjoberg, K.; Benoni, C.; Tysk, C.; Bohr, J.; Kilander, A.; Larsson, L.; Strom, M.; Hjortswang, H. Is smoking a risk factor for collagenous colitis? *Scand. J. Gastroenterol.* 2011, 46, 1334–1339. [CrossRef] [PubMed]

- 16. Chan, J.L.; Tersmette, A.C.; Offerhaus, G.J.; Gruber, S.B.; Bayless, T.M.; Giardiello, F.M. Cancer risk in collagenous colitis. *Inflamm. Bowel Dis.* **1999**, *5*, 40–43. [CrossRef] [PubMed]
- Yen, E.F.; Pokhrel, B.; Bianchi, L.K.; Roy, H.K.; Du, H.; Patel, A.; Hall, C.R.; Witt, B.L. Decreased colorectal cancer and adenoma risk in patients with microscopic colitis. *Dig. Dis. Sci.* 2012, 57, 161–169. [CrossRef] [PubMed]
- Warren, B.F.; Edwards, C.M.; Travis, S.P. 'Microscopic colitis': Classification and terminology. *Histopathology* 2002, 40, 374–376. [CrossRef] [PubMed]
- Gordon, R. Skin cancer: An overview of epidemiology and risk factors. *Semin. Oncol. Nurs.* 2013, 29, 160–169. [CrossRef] [PubMed]
- Belbasis, L.; Stefanaki, I.; Stratigos, A.J.; Evangelou, E. Non-genetic risk factors for cutaneous melanoma and keratinocyte skin cancers: An umbrella review of meta-analyses. *J. Dermatol. Sci.* 2016, *84*, 330–339. [CrossRef] [PubMed]
- 21. Jensen, P.; Hansen, S.; Moller, B.; Leivestad, T.; Pfeffer, P.; Geiran, O.; Fauchald, P.; Simonsen, S. Skin cancer in kidney and heart transplant recipients and different long-term immunosuppressive therapy regimens. *J. Am. Acad. Dermatol.* **1999**, *40*, 177–186. [CrossRef]
- 22. Karagas, M.R.; Cushing, G.L., Jr.; Greenberg, E.R.; Mott, L.A.; Spencer, S.K.; Nierenberg, D.W. Non-melanoma skin cancers and glucocorticoid therapy. *Br. J. Cancer* **2001**, *85*, 683–686. [CrossRef] [PubMed]
- Sorensen, H.T.; Mellemkjaer, L.; Nielsen, G.L.; Baron, J.A.; Olsen, J.H.; Karagas, M.R. Skin cancers and non-hodgkin lymphoma among users of systemic glucocorticoids: A population-based cohort study. *J. Natl. Cancer Inst.* 2004, *96*, 709–711. [CrossRef] [PubMed]
- Long, M.D.; Herfarth, H.H.; Pipkin, C.A.; Porter, C.Q.; Sandler, R.S.; Kappelman, M.D. Increased risk for non-melanoma skin cancer in patients with inflammatory bowel disease. *Clin. Gastroenterol. Hepatol.* 2010, *8*, 268–274. [CrossRef] [PubMed]
- 25. Singh, H.; Nugent, Z.; Demers, A.A.; Bernstein, C.N. Increased risk of nonmelanoma skin cancers among individuals with inflammatory bowel disease. *Gastroenterology* **2011**, *141*, 1612–1620. [CrossRef] [PubMed]
- 26. Gunaltay, S.; Ghiboub, M.; Hultgren, O.; Hornquist, E.H. Reduced IL-37 Production Increases Spontaneous Chemokine Expressions in Colon Epithelial Cells. *Dig. Dis. Sci.* 2017, *62*, 1204–1215. [CrossRef] [PubMed]
- Gunaltay, S.; Nyhlin, N.; Kumawat, A.K.; Tysk, C.; Bohr, J.; Hultgren, O.; Hultgren Hornquist, E. Differential expression of interleukin-1/Toll-like receptor signaling regulators in microscopic and ulcerative colitis. *World J. Gastroenterol. WJG* 2014, 20, 12249–12259. [CrossRef] [PubMed]
- Burger, M.; Catto, J.W.; Dalbagni, G.; Grossman, H.B.; Herr, H.; Karakiewicz, P.; Kassouf, W.; Kiemeney, L.A.; La Vecchia, C.; Shariat, S.; et al. Epidemiology and risk factors of urothelial bladder cancer. *Eur. Urol.* 2013, 63, 234–241. [CrossRef] [PubMed]
- Dela Cruz, C.S.; Tanoue, L.T.; Matthay, R.A. Lung cancer: Epidemiology, etiology, and prevention. *Clin. Chest* Med. 2011, 32, 605–644. [CrossRef] [PubMed]
- 30. Watanabe, M. Risk factors and molecular mechanisms of esophageal cancer: Differences between the histologic subtype. *J. Cancer Metastasis Treat.* **2015**, *1*, 1–7. [CrossRef]
- Larsson, J.K.; Sonestedt, E.; Ohlsson, B.; Manjer, J.; Sjoberg, K. The association between the intake of specific dietary components and lifestyle factors and microscopic colitis. *Eur. J. Clin. Nutr.* 2016, 70, 1309–1317. [CrossRef] [PubMed]
- 32. Barlow, L.; Westergren, K.; Holmberg, L.; Talback, M. The completeness of the Swedish Cancer Register: A sample survey for year 1998. *Acta Oncol.* **2009**, *48*, 27–33. [CrossRef] [PubMed]



© 2019 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0/).